Hall Tree

Warning: Please read this instruction manual
carefully before using the product.

géé) =)

o T

GAUTION:When tightening the screws, tighten sequentially.
Do not tighten any screws fully and then towards the next one.
When every part is OK, then tighten all the screws.

1/23




ASSEMBLY INSTRUCTION FOR Hall Tree

Installation method I

2/23




ASSEMBLY INSTRUCTION FOR Hall Tree

3/23




ASSEMBLY INSTRUCTION FOR Hall Tree

@ ® @ -
/
1PC C \/ ’2pcs
X ’
é |“’C
\, 2PCS 1PC | 1PC
9 D [y
@ < —
@ @ 2PCS 2PCS @ %
ZENRES
— @ 1PC 1PC 1PC
—
\\ ~ 1PC 1PC 1PC 4PCS

4/23




ASSEMBLY INSTRUCTION FOR Hall Tree

I

23) N

=

=

2PCS 8PCS 9PCS 25ET
O (o)
(250)
\\ 1PC 2SET /
Kerial schematic Specification |quantity serial schematic Specification quantit}
number diagram P number diagram
(O TS ST5x40 36 o0/ §m 9906-96/M4x6| 2/4
M6x10 1 S M3. 5x14 18
(&) M6x25 18 & M6 6
(D) M6x30 12 = /o M3. 5x10 1
M6x40 16 — 3 )
Opammmmmnnmn M6x50 6 — \i4 1
) M6 19 ST — )
0 1 2 4 5 6 7 8 9 10 1 13




ASSEMBLY INSTRUCTION FOR Hall Tree

This computer desk has two different installation methods;\\
please choose one of the installation methods and install
it according to its unique assembly method.

Installation method I: Please refer to Step 8 Step 18

e I 7

7

A J//

6/23




ASSEMBLY INSTRUCTION FOR Hall Tree

4 N
Make sure to use the correct screws to avoid
damaging components
Wrong size screw can split Correct screw size 1s correct
\_ the board -

7/23




ASSEMBLY INSTRUCTION FOR Hall Tree

-
Matters needing attention

(1)When installing the screws in the installation step,
the screws do not need to be tightened.

After this installation step is confirmed and the holes are aligned,
then tighten all the screws.

(2)If the screws are tightened during the installation process,

it will cause problems such as misalignment of the screw
holes and misalignment of the board in subsequent installations.

example

N L
QI

=N >

IR NS N o~
DTS o) Pn-D o e

\¢/
w:_
A0 g =

= =
EE SOV X

> o

Do not tighten the screws Screw down

e \\
// plastic pellets \\\
\\
\

/ . \\
/ The state without \
/ .
/ plastic granules /
| = | .
\ / \ ]
\/ \ /
/ \\ ///

\\ ///

Note that if you find that there are no plastic granules on the wooden block, the table cannot be

assembled, please don't worry, please use the spare plastic granules in the screw bag

Note, please use a tool to carefully align the plastic pellets with

" the holes and then knock them down

\_
8/23




ASSEMBLY INSTRUCTION FOR Hall Tree
( STEPL | N

o MAx6 4\
STEP2 |




ASSEMBLY INSTRUCTION FOR Hall Tree

( STEP3 | ~
g 3, 5x14 18‘

STEP4 |
\(C] M6x25 12 )

10/23




ASSEMBLY INSTRUCTION FOR Hall Tree

STEP5 |

-

»  ST5x40 8‘

11/23




ASSEMBLY INSTRUCTION FOR Hall Tree

( STEPT | N
o =~
L i 0 x:%iﬂ ;
4, - e $
i &
D
Please pay attention to the installation direction of part "17"
\ M6x40 12 /

12/23




ASSEMBLY INSTRUCTION FOR Hall Tree
( STEP9 | h

0@\\\\\1\\\\\»\\»\»\\\\_ -

ol //mmm‘@

i
i
b Please pay attention to the installation direction of part "18"
ST5x40 4‘ MExd0 4 ‘
STEP10 |
‘(!’ / 2 | %) N>
Q
,’/ h&)} I :
Note the direction || | |
of this hole
\(F) Qmmmmmmm N6x50 6‘ N6 6‘ -

13/23




ASSEMBLY INSTRUCTION FOR Hall Tree

( STEPIL | O
ST5x40 8‘
STEP12 |
15
ST5x40 8‘ Y.

14/23




ASSEMBLY INSTRUCTION FOR Hall Tree

( SIEPI3 |

(D) @  M6x30 8 ‘ ® M6 8’

STEP14 |

M6x25 6‘

15/23




ASSEMBLY INSTRUCTION FOR Hall Tree

-

STEP15 |

L.

(B) (o M6x10 1 ‘ (D) @mmmm

M6x30 4 ‘ M6 5

STEP16 |

The light strip can

be pasted to

the desirecposition

according to PRSI
your own needs -

\ < /b M3.5x10 1

Carefully remove theplastic
film behind thelight strip.

The light belt is aligned with
the square hole and carefully
passes through the square hole

1

off. but the installation of the K

accessory is a bit difficult and requires

you to firmly lock the K screw. You c
choose not to install the K accessory
which will not affect use!

nstalling the K accessory can better
prevent the 24 # light strip from falling

an

’

/

16/23




ASSEMBLY INSTRUCTION FOR Hall Tree

-

STEP17 |

\
!

195L 2

<::> o ST4x40 2

17/23




ASSEMBLY

INSTRUCTION FOR Hall Tree

( STEP19 |

(EJo=="]

(EJo==

(EJo==

M6x40 12

[
I
\

Installation method II \

Please pay attention to the installation direction of part "17"

STEP20 |

/
/
/
@ /
4 ~
|
MM - \
Opay \

g

Please pay attention to the installation direction of part "18"

ST5:10 4 | NG04 | )

18/23




ASSEMBLY INSTRUCTION FOR Hall Tree

( STEP21 | .

Note the direction
of this hole

=
ey | |

77

M6 6‘

(@D M6x50 6‘
STEP22 |

ST5x40 8‘
19/23




ASSEMBLY INSTRUCTION FOR Hall Tree

( STEP23 | O
‘ jp—
=
ST5x40 8 ‘
STEP24 |
(D Mex30 8 ® M6 8’ J

20/23




ASSEMBLY INSTRUCTION FOR Hall Tree

(  STEP25 | ~
M6x25 6‘
STEP26 |
L
JJ%
g
J
(G e
\ M6x10 1 ‘ (D) M6x30 4 ‘ ) M6 . /

21/23




ASSEMBLY INSTRUCTION FOR Hall Tree

-

The light strip can
be pasted to

STEP27 |

according to
your own needs

the desirecposition ;-

Carefully remove theplastic \\\
film behind thelight strip.
The light belt is aligned with
the square hole and carefully
_passes through the square hole

3 p——
R
X

! g
= o P
1 7~

8
iﬁiﬁi=iﬁiiiﬁim‘

WA
XX
X,

Installing the K accessory can better
prevent the 24 # light strip from falling

off. but the installation of the K
accessory is a bit difficult and requires
you to firmly lock the K screw. You can

choose not to install the K accessory,

() & /o

M3. 5x10 1‘

which will not affect use!

STEP28 |




ASSEMBLY INSTRUCTION FOR Hall Tree

-

STEP29 |

23/23






